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Answer ALL questions.

Some questions must be answered with a cross in a box X. If you change your mind about an
answer, put a line through the box $< and then mark your new answer with a cross [X.

1 This question is about some organic compounds.

(a) Draw the skeletal formula of 1,3-dimethylcyclohexane.

(b) What is the general formula for a cycloalkene?

O A CHoo
O B GH,
O € CGH
[0 D GHae

(c) A student is asked to devise a laboratory synthesis of 1,2-dichloroethane.
The student suggests reacting ethane with chlorine in the presence of
ultraviolet radiation.

Give two reasons why this is not a good method to prepare 1,2-dichloroethane.

(Total for Question 1 = 4 marks)

3
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2 This question is about alcohols.

(a) Ethanol is a fuel and can be made by either the fermentation of carbohydrates or

the hydration of ethene.

How is the ethanol formed by the fermentation of carbohydrates classified?

O o oo

A
B
C
D

a biofuel and non-renewable

a biofuel and renewable

a fossil fuel and non-renewable

a fossil fuel and renewable

(b) Write the equation for the complete combustion of methanol.
State symbols are not required.

(c) Identify, by name or formula, the reagent(s) needed to convert propan-1-ol

into 1-iodopropane.

(d) A sample of pure propan-2-ol is analysed using infrared and
"*C NMR spectroscopy.

(i) Which of these sets of wavenumber ranges, incm™, will be seen in the

infrared spectrum of propan-2-ol?

O

|
|
|

(ii) State the number of peaks in the >C NMR spectrum of propan-2-ol.

O n w >

1485 - 1365, 2962 — 2853 and 3300 - 2500
1485 - 1365, 2962 - 2853 and 3750 - 3200
1669 — 1645, 2962 — 2853 and 3750 - 3200
1740 - 1720, 3300 - 2500 and 3750 - 3200
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4 )
(e) The equation for the oxidation of ethanol by acidified dichromate(VI) ions
is shown.
3CH;CH,OH + 2Cr,07 +16H" — 3CH,COOH + 4Cr** + 11H,0
Deduce the half-equation for the oxidation of ethanol to ethanoic acid.
State symbols are not required.
(1)
(Total for Question 2 = 6 marks)
. J
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3 This question is about the molar masses of three organic compounds, X, Y and Z.

(@) The accurate relative atomic masses, A,, of four of the elements that could be
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present in an organic compound are shown.

Element A
hydrogen, H 1.0078
carbon, C 12.0000
nitrogen, N 14.0031

oxygen, O 15.9949

The mass spectrum of organic compound X gives a molecular ion peak
at m/z=60.0323

What is compound X?

N

(|
(|
(|

O N w >

ethanamide, CH;CONH,
ethanoic acid, CH;COOH
trimethylamine, (CH;);N
urea, CO(NH,),

(b) 9.90¢ of a gaseous organic compound, Y, occupies a volume of 5.40 dm® at
room temperature and pressure (r.t.p.).

Calculate the molar mass of the compound Y.

[molar gas volume at r.t.p. = 24.0dm’mol™']
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(c) A quantity of a volatile organic liquid, Z, is placed in a 60.0cm’ flask and heated to
95.0°C. When all the liquid has vaporised, the flask is sealed.

Mass of vapour =0.170g
Pressure = 100.6 kPa
Gas constant (R) = 8.31Jmol 'K

Calculate the molar mass of compound Z, giving your answer to an appropriate
number of significant figures.
Assume there was no air left in the flask once the liquid Z had vaporised.

(Total for Question 3 = 7 marks)

7
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r

4 This question is about some hydrocarbons.

(@) A 2.50g sample of a hydrocarbon gave 7.599 of carbon dioxide on
complete oxidation.

Calculate the empirical formula of the hydrocarbon.

(4)

J
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(b) Benzene and ethene react with bromine under different conditions but both
reactions involve an electrophile.

(i) An electrophile is a substance that

accepts a pair of electrons

accepts an unpaired electron

O 0O oo

A
B
C donates a pair of electrons
D

donates an unpaired electron

(i) Explain why benzene is resistant to bromination but ethene reacts readily
with bromine at room temperature.

(Total for Question 4 = 9 marks)

9
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Nitrogen monoxide reacts with oxygen to form nitrogen dioxide.
2NO(g) + Oi(g) — 2NO,(9)

The rate is proportional to the concentration of oxygen and to the square of the
concentration of nitrogen monoxide.

(@) The rate of this reaction can be determined by measuring the change in the total
gas pressure.

(i) Give a reason why this method can be used in this reaction.

(ii) State two factors, other than initial amounts of reactants, that must be kept
constant for this method to work.

10
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(b) The graph shows four lines of a quantity Y plotted against a quantity X.

P

X

(i) Which line shows the relationship between the concentration of
nitrogen monoxide (Y) and time (X)?

O

L]
L]
L]

A lineP
B lineQ
C lineR
D lineS

(ii) Which line shows the relationship between rate (Y) and concentration of
oxygen (X)?

O

L]
L]
L]

A lineP
B lineQ
C lineR
D lineS

(c) The rate of this reaction is zmoldm™s™" under certain conditions.

O =

The concentration of nitrogen monoxide is doubled and the concentration of
oxygen is halved. All other conditions remain the same.

What will be the new rate of reaction in moldm™s™?

O

L]
L]
L]

A z/2
B -
C 2z

D 4z

1
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(d) Nitrogen monoxide is formed in car engines. It is removed by the catalytic
converter in the car exhaust.

2NO(g) + 2CO(g9) — 2CO,(9) + N,(g)

The reaction is exothermic and the most active catalyst is platinum.

(i) Complete the labelled reaction profile for the catalysed reaction.

2NO(g) + 2CO(g)

Enthalpy

Progress of reaction

(i) Catalysts, such as platinum, are very expensive.

Explain an economic benefit of using a catalyst in an industrial process.

12

(Total for Question 5 = 10 marks)
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6 lodine reacts with propanone in acidic conditions.

H*(aq)
L(ag) + CH;COCH,(aq) A CH,COCH,I(aq) + H'(aq) + I'(aq)

A student was asked to investigate the kinetics of this reaction.
The student predicted that the rate equation for the reaction would be

rate = k[I,(aq)][CH;COCH;(aq)I[H"(aq)]’

because the balanced equation shows that one molecule of iodine reacts with
one molecule of propanone and the acid is a catalyst.

(@) The student first determined the order of reaction with respect to iodine by
keeping the concentrations of propanone and acid constant.
The student used the outline procedure shown.

« mix 25cm® of aqueous propanone with 25 cm?’ of dilute sulfuric acid in a
conical flask

. add 25cm’ of aqueous iodine, immediately start a stopwatch and swirl the
mixture in the conical flask

. use a pipette to remove a 10.0cm® sample of the solution and placeitin a
clean conical flask

« add a spatula measure of sodium hydrogencarbonate and note the exact time
it is added

. take four more 10.0cm’® samples of the mixture and add
sodium hydrogencarbonate to each of them at regular time intervals

« titrate the unreacted iodine in the samples with sodium thiosulfate solution
using starch indicator.

(i) State how the student could ensure that the concentrations of propanone
and acid are effectively constant throughout the experiment.

13
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(b) The student obtained these results.

Time / min 5 10 15 20 25

Volume of thiosulfate /cm® = 15.0 13.8 12.6 11.4 10.2

(i) Give areason why it is not necessary to calculate the concentration of iodine
at each time to work out the order of reaction with respect to iodine.

(i) Plot a graph to show that the order of reaction with respect to iodine is zero.

(iii) Give a reason why the graph shows that the order of reaction with respect to
iodine is zero.
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(c) Further experiments showed that the correct overall rate equation is
rate = k[CH;COCHs(aq)1[H*(aq)][I,(aq)!°
(i) Deduce a possible rate determining step in the mechanism of this reaction.
Curly arrows are not required.
(ii) Data from two experiments carried out at the same temperature are shown.
Experiment | [CH;COCH;(ag)]/ moldm™ ' [H*(ag)]/ moldm™ [I,(ag)]/ moldm™ Rate/moldm™s"
1 3.0 0.4 0.02 3.36x107
2 4.0 0.2 0.04
What is the rate, in moldm™s™, in Experiment 2?
0 A 224x10° —
[0 B 336x10° —
I:, C 448 x 10_5 —
[0 D 896x10° —

(iii) The experiment in (a) is repeated but using aqueous bromine instead of
aqueous iodine. All other conditions are kept the same.

Explain how you would expect the rate of reaction of bromination of
propanone to compare with the rate of iodination of propanone.

Assume that the reaction between bromine and propanone in acidic
conditions has the same rate equation as that between iodine and propanone
in acidic conditions.

(Total for Question 6 = 12 marks)

15
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7

7 This question is about carbonyl compounds.

(@) Ethanal, CH;CHO, and ethanoic acid, CH;COOH, are both soluble in water but
ethanoic acid has a much higher boiling temperature than ethanal.

Explain these physical properties of ethanal and ethanoic acid in terms of
intermolecular forces.

Include a labelled diagram to show why ethanal is soluble in water.

(4)

L
X

% o8 o
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(b) Propanal reacts with hydrogen cyanide in the presence of potassium cyanide to
form 2-hydroxybutanenitrile.

OH

|
C2H5—C|—H

CN

(i) Draw the mechanism for this reaction.
Include curly arrows and any relevant lone pairs and dipoles.
(4)

(i) Explain whether or not the 2-hydroxybutanenitrile formed will be a
racemic mixture.

o R0 O Turn over »
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(c) Carbonyl compounds can be identified by reacting them with
2,4-dinitrophenylhydrazine (2,4-DNPH) to form a solid derivative.
These derivatives have characteristic melting temperatures.

(i) ldentify the steps required to prepare a sample of a pure, dry derivative of a
carbonyl compound X.

Carbonyl 24-DNPH | Precipitate in

compound X reaction mixture
Step 1
Impure solid
derivative
Step 2
Drysolid |, SteP3 Purified solid
derivative derivative
Step 1
Step 2
Step 3

18
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(ii) The melting temperature ranges of the derivatives of some carbonyl
compounds that could be X are shown in the table.

Carbonyl compound = Melting temperature range of derivative / °C

ethanal 165 - 168
propanal 154 - 156
propanone 127 -129
cyclohexanone 158 - 160

The melting temperature of the derivative of carbonyl compound X is
156-158°C and X has an absorption at 1717 cm™ in its infrared spectrum.

Deduce the identity of X. Justify your answer.

(iii) These carbonyl compounds may also be identified using modern methods
such as proton NMR spectroscopy.
The structure of the pentan-3-one derivative formed with 2,4-DNPH is shown.

H N02 CHz_CH3
/N——
02N N CHz_CH3
\
H
¥ H

Label the different proton environments that would give rise to the peaks in
the low resolution proton NMR spectrum.

(Total for Question 7 = 18 marks)

19
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e 0 &85
8 This question is about isomerism in organic compounds. % /\
(@) How many structural isomers are there with the formula C;H;,? *U‘f"\
(1) 2
o
LI A 2 o
:~:$\
0 B 3 ‘B
—'\
boc o4 %\
[0 D 5 j\t%,,_\
i
(b) Propene reacts with bromine to form 1,2-dibromopropane as the only product. Eea
Draw the mechanism for the reaction between propene and bromine.
Include curly arrows and any relevant lone pairs and dipoles.
(3)
\ J &3
20
M TR0 O =
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(c) When propene reacts with a mixture of bromine and sodium chloride, it forms
1,2-dibromopropane, 1-bromo-2-chloropropane and 2-bromo-1-chloropropane
but no 1,2-dichloropropane.

(i) Explain, by reference to your mechanism in (b), why no
1,2-dichloropropane forms.

(i) Explain why far more 1-bromo-2-chloropropane forms than
2-bromo-1-chloropropane.

21
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*(d) Discuss the different types of stereoisomerism that occur in organic compounds.
Use only molecules A and B as examples.

CHCI=C(CH;)Br CH;CH(OH)COOH
A B

Include in your answer:

+ how the different types of isomerism arise

« the naming of alkenes with the formula A

« the properties of isomers with the formula B

- diagrams of the different isomers.

R 0 O A omm
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(Total for Question 8 = 14 marks)

\

J
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9 This question is about the analysis of some organic compounds.

24

(@) A compound A (G3H,Cl) reacts with dilute aqueous sodium hydroxide to
produce B (C;HgO). B can be oxidised to € (C3H¢O), which cannot be oxidised
any further.

A reacts with magnesium in dry ether to give D (C;H,MgCl). When carbon dioxide

is passed through the solution of D, followed by acidification, E (C,Hs0O,) is formed.

Identify the structures of A to E.
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An organic compound, Q, contains carbon, hydrogen and nitrogen only.

When a 1.19g sample of the compound was heated with sodium hydroxide
solution, all of the nitrogen was converted into ammonia. The ammonia was
passed into 100.0 cm’® of 0.225 mol dm™ hydrochloric acid.

NHi(g) + HCl(ag) — NH,Cl(aq)
25.0cm’ portions of the resulting solution containing unreacted hydrochloric acid

required a mean titre of 15.5cm’ of 0.100 mol dm~ sodium hydroxide
for neutralisation.

Calculate the percentage of nitrogen in Q.

(Total for Question 9 = 10 marks)

TOTAL FOR PAPER =90 MARKS

p 71 91 3 A 0 2 5 2 8



Find Personal Tutor from www.wisesprout.co.uk

BLANK PAGE

J

26

p 71 91 3 A 0 2 6 2 8

OmC .

R
RIS
ISR
NCOC
RIS

: QOO
s
s X
o% e
35S Soke

0

dggﬁ oe¢
St totototototetst
ZIRULIRIL

R
d%bod%bo
%ﬁgig'

odetetedel

XX
KL

5

X%
0a::

PN

2RI




Find Personal Tutor from www.wisesprout.co.uk

BLANK PAGE

27

771 91 3 A0 2 7 2 8

P

O =



Find Personal Tutor from www.wisesprout.co.uk

€01 01 10l 00} 66 86 16 96 6 6 €6 6 L6 06
NDUaIMe] | WNLSgoU |Wninappuail | WwNWLS) [ wintuelsule [winiuioghed| wnipyaq wnuny wnpuswe (wnwoind (wnunydau| wniuedn  |wnwnoeield| wnoy)y
" ON PW w4 s3 3D ngd w) wy nd dN n ed ylL
[z62] | [psal | [9sdd | [esdd | [¥sad | szl | [eve] | [wwdd | [evdd | [ovdd | [egdd 8€¢ [1ez] [AX4
[ 0L 69 89 19 99 69 9 €9 9 19 09 65 8¢ ut
wnpaIn) [wnigquenA | wniynyy wniqla wniwioy (wnisoidsAp| wniqisy |wniunopes | wnidoins |wnuewes |wniyiswoid|wniwAposu |wniudpoaseid|  winLiad S9HISS 3PIURIY
n7 qA wl 43 OH Aa qL PO n3 ws wd PN Ad ) sa1Ias aplueyjueT ,
G/L €1 691 191 691 €91 661 /6L 61 oSl [z¥1L] 24! Lyl orlL
[ oLl 601 801 10} 901 G0l v0l 68 88 /8
_uwumu_.ucwr_u:m >.=3..— HOC u:n E:_rﬁm“:me winipejsuuep [ linusujlewl (- wnissey wnuyoq E:_mhonmmm. wniugnp | wniplofayyru wintuLyoe c._:.:.um\_ E:.—ucm.c
paiiodal usaq aAeY 91 L-7| | SISQLINU JLWOIR YIIM SJUSWI)T mm_ Sd W SH ygd mm qa 3 £V ey 44
[zzz]l | Dz | 897 | [zz7] | [¥92] | [992] | [z97d | Dozl  [zzal | [9zadl | [gzzd
98 G 8 €8 28 18 08 6L 8/ LL 9/ Gl vi €/ 14 LS 96 e
uope. auneise | wnwojod | ynwsiq pes) wneyy | Andssw p1o8 wnupeyd | wniput wnlwso | wnuays | uaisSuny | wmejuey | wniujey  wnueyjue)| wnieq wnisaed
uy W 0d g qd 1L 8H ny d .| £10) 9y M el JH Mg eg s)
[zzzl | [orz] | [e0Z] | 0607 | 20T | ¥'#0T | 97007 | O°Z6L | 1'G6L | Z'Z6L | T06L | T98L | 8°€8L | 6'08L | 681 6°8EL | €461 | 6°T€L
S €6 14" 1S 05 6F 8y 1y 9% g 124 £ W I ov 6€ 8¢ L€
uouax autpol wnn 9y | Auownue uty wniput | wniwped J9AIS wnipened [ wnipoyd |wniusaying [wnnauyda) jwnuspghiow| wnigotu | wnuoonz | wnunA | wnijuosys | wnipigna
9X I ol qs us ul PD 8y Pd Sh | ny 2] ow dN 17 A iS 9
€LEL | 6797V | 92TL | 8Lz | £'8LL | 8FLL | ¥TLL | 6°£0L | #7901 | 6°TOL | L°LOL [86] 6'G6 6'76 16 6'88 9°/8 G'G8
9¢ G e €€ 43 LE 0¢ 67 8¢ LT 97 Gz €4 4 44 ¥4 0t 6l
uoydAuy aulwolq | wniua)es owasie (wnwewuss| wnies oulz laddoo 192U J1eqod uout asaueBURW | WiNWoJyd | wnipeueA | wniuejy | wnipueds | wnyed | wnisseyod
R) | gie| oS sy 99 en uz no IN 0) 94 uy D A L] S e) A
8°€8 66/ 06 6vL 97/ 1'69 ¥'69 G'€9 £°88 685 8°GG 617G 0765 6°0S 6Ly 0°Gk L'o¥ 1°6€
8l L) 9l Gl |42 €l (z1) (1) (o1) (6) (8) (2) (9) () (r) (€) [4° L
uoBie auloyo anjins  [snuioydsoyd| uodlis  |wniuiwnie wnissugew | wnipos
Iy 1D S d IS v 8w eN
6'6€ G'GE (343 0°1L€ 1'8T 0Lt €% 0°€t
(o] 6 8 L 9 S Jaquinu (uojoud) diwoie 14 €
uoau auuion)y | uaBAxo | uaBoslu | uoqued uo.oq aweu wnmAiag | wnyan
oN E| 0] N D d JoqwiAs Stwoje o4 1
70t 0'6l 091 0'vL 07} 8°0) SSeW JlWole SA3R)9. 06 6°9
4 (Z1) (91) (st) (1) (€1) ! Aoy (2) (1)
wnhey uagoupAy
9H
h H
0y 0}
(81)
(8o L 9 S 14 € 14 I

SJUSWS)3 JO 9)qel JIPOLISd YL

R 0 OO A omm

28

3 A0 2 8 2 8

9 1

1

P 7





